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cin.get =—

#include <cstring=>
using namespace std;
int main() {
char a[20],b[20],c[20];
cout << "\nEnter three sentences delimifted with \".\":\n";
cin.get(a, 20, )
cin.get(b, 20, )
cin.get(c, 20, )
cout<<"The entered string:"<<endl;
cout =< "1) " =< a<<endl;
cout =< "2) " =< b<<endl;
cout =< "3) " =< c=<endl;
return 0O;

Enter three sentences delimited with ".":
Ahmad.Ali.AmirAll.
The entered strings:

1) Ahmad




cin.getline -—

#include <cstring=>

using namespace std;

int main() {
char a[20],b[20],c[20];
cout << "\nEnter three sentences delimited with \".\":\n";
cin.getline(a, 20, )i
cin.getline(b, 20, )i
cin.getline(c, 20, )i
cout<=<"The entered string:"<<endl;
cout =< "1) " =< a<=<endl;
cout =< "2) " =< b=<endl;
cout << "3) " <= c<<endl;
return 0;

Enter three sentences delimited with ".
Ahmad.Ali.Amirali.
The entered strings:

1) Ahmad
2) All
3) Amirali S
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American Standard Code for Information Interchange

[ CSone s @,{JT

000 001 010 011 100 101 110 111
0000 NUL DLE 0 @ P ) p
0001 SOH DC1 ! 1 A Q a q
0010 STX DC2 ) 2 B R b r
0011 ETX DC3 # 3 C S C S
0100 EDT DC4 $ 4 D T d t
0101 ENQ NAK % 5 E U e u
0110 ACK SYN & 6 F V f \Y;
0111 BEL ETB ' 7 G W g w
1000 BS CAN ( 8 H X h X
1001 HT EM ) 9 I Y [ y
1010 LF SUB * : J Z j Z
1011 VT ESC + ; K [ k {
1100 FF FS , < L \ I |
1101 CR GS - = M ] m }
1110 SO RS . > N A n =
1111 S usS / ? @) 0] DEL




Jio =

$include <iostream>
using namespace std;
int main()
int =2iz,1i;
':_F_E'.,r 3t-r::=':':1','r'3'r":'r'a'r't'r":'r'._'r'-\l'r'E"}:-

siz=sizeof (atr)/=zizeof (char):
for(i=0;i<=siz;i++)

cout<<"Character:"<<str[i]<<"\t"<<"equals to ASCII code: "<<({int)str[i]<<endl:;
}

equals
haracter:B equals
haracter:C equals
haracter:a equals

haracter:h equals
haracter:c equals
haracter:1 equals
haracter:2 equals
haracter:3 equals

s Panlp oo
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o3 Ny <CSIIING> Jaldyw )y osd el @l o
03! .y )5 @ $E6HE slaain) ) ECuws sly
) si5)he @3l

strien aiwy Job @G e

Striwr g strupr Sy g (5005 agya Jusad @les @
strchr g strstr waiiny (soaiws @lgs ©
Strncpy g Strcpy aiuny (25 @alg3 ©

strncmp g Stremp leaxwy sawsos @lgs o g g __
strncat q strcat aasin) §Lo)) @lgs ©

CsJU«?.de-DUH C.?')LU‘)



aln) Job U =—

strien(string) axuwy Job @G °

) WB)5 53919 OLegS)l Cyg0 @ )y (slaiiby yceis
A313)56,0)0 ho! Job

char str[]="God iz real, unlesz declared integer!™;

cout<<strlenistr) ="<<strleni(str) <<endl:

strlenistrr=37
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Sa¢S 9 Syp g cbad =

strupr(string) esG

3o)s Elad § 3564 ($530)9 Olgic @ )y aiw) Sy -
S350 JI33 Q) Bgs @ 1) 0 B85

cout<<strupr (str) <<endl:;

OD IS REAL. UHLESS DECLARED INTEGER?

striwr(string) g
Bo)s elad g 354 530)0 Olgic @ ) Ay K-

2500 J33 B80S Ggys @ |y o1 Gy

cout<<strlwrE (Str) <<endl;

god is real. wunless declared integert

s Panbp el
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strchr(string, char) @G
) slazingy § 03)3 galums aln) Ag)s 1) \SHE Ky —
3313)5¢,0)0 1) A3 (sle33) G go89 ool

cout<<strchr (str, 'u' ) <<endl;

nless declared integer?
strstr(stringl, string2) s

oaluwa S1 o) |y String2 (saiun) 1) 19530 @6 —
10 (51 G go39 ool j1 1) slawyp) o 83)S

A3/ 0
cout<<strstr (str, "declared™) <<endl;
declared integenr!? V.
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strcpy(stringl, string2) asG
Slsde (A5 SIriNgl ys 1y string2 ylsis —

char cpystrl[40] :
stropy(cpystrl, str) ;
cout<<cpystrl<<endl;

od iz real,. wunless declared integer?

strncpy(stringl, string2, n) @G
35N Job L stringl s 1y string2 ylabs —
A3ladg,0

char cpystri [40] : =
struncpy(ocpystrd , str, 5) ;

cpysStr2[5]="50"; I; [1 ¥
Ccout<<cpystrZ<<endl;

Q&M¢“ﬁﬁc9u0
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stremp(stringl, string2) a3

A5 (0 aslas o L 1) String2 g stringl aswy g —
130 (0 eladl 1) O @ awylbs

O If sl==s2
strecmp (s1,s2)=<<0 if sl<s2

>0 If s1>s2

strncmp(stringl, string2,n) e e

oo LN Job G )y string2 g stringl asiy g —
350 anslns

s Peanbp el
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int maini()

char =ctrl|[] = "This=
con=st int MAX = 80;
char strZ[MAX]:;

strcpy(strl, =trl);

cout << =s2trd << endl:

return 0O:
¥

12 a test!v:
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laalhy ) csla)) =—

l) A oaadp a5 enled s 1) sneis ASpl sy
b0 aAbls datin) i) syl 00,0 oo Sl 304 )
: )0 °

Char nanes[5][20]={"Collins, Bill", "Smth,
Bart“,"Allen, Jin,"Giffin, Jin,"]ohn
smth"};

anlie HISHE sloatiby iy § 1) God sahl )5\
aly sl G 00 sl a5 seie o) A (@xS
Cuny $HI5H5 saib) S ol poic o a5 Cuwl spaic
1) J3b Oygo @ eslgice ) @hl gl .Cunl (8)a
045 )g103
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laaily ) csla)) =—

o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

A W N - O

char names[5] [20]={"Collins, Bill", "Smith, Bart",
"Allen, Jim" " Griffin, Jim","john smith"};
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int main()

const int DAYS -
const int MAX = 10;
+/ farray of strings
char star[DAYS5] [MAX] =

"Wednesday™, "Thursday®™,
"Friday™, "S5aturdavy™ }:

o e o e

for(int j=0; j<DAYS5: j++) //display every string
cout << star[j] << endl;
return 0;
¥ < 10 ~
i 0 (N T N e TR
1 o I8 alyle star{0]
1 M alyl s star[1]
2 Il d |a |y |9 star[2]
llednesday 7 3 W el s|[dfaly|e |saf3
Thursday 4 1 s|al al y| o sar[4]
Friday 5 B¢ a ly |o | sia[5]
A & B r|d |a |y |@ star[6) &
s Panlp ol
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ginclude <iostream:
uzing namespace std:
int maini(){

}

char namwe[4] [20]
int count=0;

cout << "Enter at most 4 names with at most 19 characters:iy\n':

while [(count<d)

cin.getline (name [count++] ,

cout << "The naunes are:hwn'™:

for [(int i=0; i<count:;
cout <4 TLYET g 1 €<

144+

Jio =

[Amir]
[Maryaml
[Alil
[Minal

a0 ;

. [ =< name[i] << "]" << endl:; “ Vo
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ginclude <iocstresm:
using namwespace std:
int maini) 1
char name[ 10] ;
char s[5][10]={"ali", "alireza"™, "Haryam"™, "Hohattad™, "REeza™} ;
cout << " Enter a namehnx":
cin.get | name, 10 ) ;
for{int i=0;i<5;i++){
if(strcpis[1] , name) ==0) {

cout<<the name iz heref<<endl:;
cont<<Mindex is"<<i<<endl:;
return O:;

cout<<"The nawme is not herehNT™:
return —1;:

Enter a name

' *Mohammad

the name iz here
index i=3

csuRPanlp csSlw
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Jio =

f#include <iostream>
#¥include <cstring>
using namespace std:;
vold main()

char a[20],b[20],c[20] ,max[20]
cout << "\nEnter three name:";
cin.getline(a,20):;
cin.getline (b, 20):;
cin.getline(c,20)

strcpy(max, a) ;

if(ztremp (max,b)< 0)=strepy (max,b)
if(strcmp(max,c)< 0)strcpy(max,c):;
cout << "The maximum i=s:" << max;
S

Enter three
Amirali

amirali
amip
The maximum is-amirali

csﬂH¢4®UH<$Quﬁ



#include <iostream:> .
using namespace std; J -
fdefine =zize 15
int main/()
char sl[=zize]:
char s2[=size]:
cout<<"Enter two =strings:"<<endl:
cin.getline(=1,15,"'."):
cin.getline(=s2,15,"'."):
cout << "Before applving strcpv((sl,s2) :\n";
cout << "“tsl = [" << =521 << "], length = " << strlen(sl)
<< endl;
cout << "wtsZ2 = [" << 32 << "], length = " << strlen(s2)
<< endl;
if(ztrlen(=sl)<=strlen(=2))
cout<< "The destination is smaller than the source"<<endl:’
else
strcpy(sl,=s2);
cout << "After =strcpvi(=sl,s2):\n";
cout << "wt3l = [" << 81 << "], length = " << strlen(sl)
<< endl;
cout << "wtsZ = [" << 52 << "], length = " << strlen(s2)
<< endl; Enter two strings:
} thiz is one.this is 2.

Before applying 4trcpy{ 1.52>:

cyi@.wﬁb}% sl

o [this 1*‘ onel. length

zd [this iz 2]1. length
After strcpylsl.zs2):

=1 [this iz 2]1.

2 [this is 21.

length
length
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$#include <iostream>
using namespace std;
int main()

char a[80],1i,k=0,1=0,mn=0,n=0;

cout << "enter an expression which contain ({[N\"}) }"<<endl;
gets(a);

for(i=0;a[i] '=0;1i++)

if{al

1]="{")kt++;
ifjali]l=="}")k--:
ifja[i]=="[")1++;
if(a[i]="]")1l--;
if(a[i]="(")n++;
if{a[i]==")"}n--:
if(af[i]=""")m++;
¥

if(k'=0)put=("{,} mi==z match."):;
if(l'=0)put=s("[,] mi=z=z match."):;
if(n'=0)put=("(,) mi=z=z match."):;
if(m%2 '= O0)puts("\" miss match."): ol S
} enter an expression which contain (CLY323

T " LB+ (LB +[[8B27]1+(5->
CARPARDR U [.] mizs match.
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#include <iostream:
using namespace std;
#define T siz 5
#define s siz 15
int main(){

Enter five names:

char a[f _siz][s_siz],t[s_siz];

int 1.1; 1th:amir
e o 2thamirali
cout<< wnEnte 1ve names:\n ; 31:]' 'FI -
for(i=0;i<5;i+){ Ath:Amirres
cout<< i+l << "th:"; -': ITII!.I:IE.-_.-EI
cin.getline(a[i],28); Et]"l--EllTlll:"'EEE_-El
} ITIZ!.I"'
Amirreza
for(i=1;i<f siz;i++){ amirx ]
for(j=0;j<f_siz-i;j++){ amirali
if(strcmp(alj],a[j+1])>@){ AM1Frre=Za
strepy(t,aljl)s
strepy(aljl,ali+1]);
strcpy(al j+1],t);

}

}
for(i=0;i<f siz;i++)
cout<< 1+l <<"\t"<< a[i]<<endl;




Cingx'ma).b'gi% -—

g0 31 )s 3280 539)9 3ix1yd Gib ) cin olgSe,0
) ) @193 Jalin b o)

getline (char* s, streamsize n ); cin.getling() -
getline (char* s, streamsize n, char delim );

get ( char& c J; Cln.get() o
get ( char* s, streamsize n );

get ( char* s, streamsize n, char delim ) ;

cin.ignore() e
1gnore | streamsize -, 10t delim ); /-’/@NC)A//Oopmd UL

i Cp 02 @Bl ) 0jiS sy 3
25
putback ( char c ); "g?a‘

cin.putback()
y2b Cmb b Yol jos foyC 358
i Caple ok 03 j3/6 cin.peek ()

| 4%

oy o . . 7  d
EIRRIN >0 | CIi pbp po6 TSy L jo/6 o Cal Cph
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#1lnclude <lostream=
‘int main () {

char first, last;
std::cout << "Please, enter your first name followed by your surname: ";

F

first = std::cin.get();
std::cin.ignore(256, )

last = std::cin.get();
std: :cout << "Your initials are " << first =< last =<

return ©;

Please, enter your first name followed by your surname:
Your initials are AM

csuRPanlp csSlw



Using peek() and putback() QJ I |
finclude <iostreams>
using namespace std;

int maini()

char ch;
cout << "enter a phrase: ";
while ( cin.get(ch) )
if (ch == "!"}
cin.putback('z"):
else
cout << ch;
whnile (cin.peek() = 'F')

cin.ignore (1, "#"'):
¥

recturn 0:

enter a phrase: * we wantHto Htest thist file.

Thiz iz a te=zt% we wantto tezt thi=z$% file.

QQM¢4MMQQQQD
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putback =-—

iztream putback
#include <iostream>
using namespace std:;

int main ()

char c;

int n;

char str[256]:

cout << "Enter a number or a word: ";
c = cin.get():

if ( (c >= '0") && (c <= "39") )

Enter a numbher or a word: 234

cin.putback (c):
cin >»> n;

?uu have entered numbher 234

cout << "You have entered number " << n << endl;
¥
el=e

cin.putback (c):

cin >> 3tr;

cout << " You have entered word " << =str << endl;
¥

Enter a numbher or a word: Hello
You have entered word Hello

return 0O;

30 Panbp ol




peek =-—

iztream peek
#include <iostream>
using namespace =std:

int main ()
char c:
int n;
char str[25e];

cout << "Enter a number or

c=cin.peek() ;

if ( (e o»= '0') &&

cin 3 omng

cout << "You have entered number

¥
gelse

cin > str;:

cout << " You have entered word "

return 0.

Fonaaolio «3lo
o J VACED 2 .

a word:

nter a numher

r

<< n << endl:;

<< stLr << endl:;

oxr

a Wil

You have entered word Hello
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